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QUESTION 1

Which load balancing option for iP-only traffic is the least efficient in terms of Layer 2 EtherChnnel physical links
utilization?

A. on a per port number basis

B. on a per destination MAC address basis
C. on a per destination IP address basis
D. on a per source IP address basis

Correct Answer: B

QUESTION 2

Which Designated Intermediate System selection option is valid when deploying IS-IS in a broadcast medium that
connects two networking devices as a point-to-point network type?

A. There is no DIS selection on point-to-point network types.

B. The router with the highest interface IP address is selected as the DIS.

C. The router with the lowest interface priority address is selected as the DIS.
D. The router with the highest loopback IP address is selected as the DIS.

E. The router with the lowest interface MAC address is selected as the DIS.

Correct Answer: A

QUESTION 3

You are designing a network that includes IP QoS. Which two architectures could be used to ensure that IP QoS is
implemented properly? (Choose two.)

A. Differentiated Services, where the user, with the assistance of the RSVP signaling protocol, reserves the resources
end to end before sending the data

B. Integrated Services, where the user, with the assistance of the RSVP signaling protocol, reserves the resources end
to end before sending the data

C. Integrated Services, which relies on the information carried within each packet to make resource-allocation decisions
at each network node

D. Differentiated Services, which relies on the information carried within each packet to make resource allocation
decisions at each network node

E. Integrated Services, where the user, with the assistance of the DSCP signaling protocol, reserves the resources end
to end before sending the data
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Correct Answer: BD

QUESTION 4

You are designing a core MPLS-based network with a single OSPF area with no external routes. Which two
mechanisms can be used to improve convergence time during a failure? (Choose two.)

A. incremental SPF
B. route filtering

C. graceful restart
D. BFD

Correct Answer: AD

QUESTION 5

You are designing an IPv4 any source multicast redundancy solution. Which technology ensures the quickest RP
convergence?

A. Auto-RP

B. Embedded RP

C. bootstrap router
D. MSDP anycast RP

Correct Answer: D
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